JETTER JT—1T Range of possible opening

W (Effective opening width) 900 ~ 3000 fl\goru[a)rrlgrlntybpoe) Colored steel plate Color:Ivory
H ( Effective opening height) 900 ~ 3000 Sheet royester yam encapsled (}mggg{dgﬁgg;egrgme
XThis image is for standard spec. with the ’
Steel squre pipe100X 100X 2.3t motor mounted on the right side. Components e
(prepared by customer) S 100mm wide right side and 70mm wide —" PRoToeTectic TWhe sensor | 1 1
____________________________ ﬂ___:..__gﬂ left side rails introduced. arety $ensoll(through—beam type)
! © o— = XAs an option, we can s Pply units with Startup sensor| - (option) - - -
\Drumbox N ™ J motor mounted on the left as well. Opening/ (Ope{gho)n panel switch ~ ~ ~
In this case, 100mm wide left side and closing P(l)J[S)hI(E)rl]Jtton witchCoption| = - -
70mm right side rails introduced. switch e
: : . Control box shall be placed on the left ufl switch® option - - -
W
70 (Effective opening width) L 1100 of the front (roils). Motor Rated power 400W - - -
Control box ?iggﬂgwpgg\se AC200V - 1
_ Code [Quantitylocation of installatioh
™ t High—speed Roll—up Door
© ype JETTER JT-1T
S otor sid Drum box fixing bracket
& otor side (safety bracket
3 lortur sensor y ! Steel squre pipe100X 100X 2.3t
S 5 Drum box ole(%grlosr’][art—up (Dru;ntbog flxlln% bracket Hanger 0 (prepared by customer)
£5 10 - / sensor mounting e PO Startup sensor Coption) ' Startup sensor(option)
=T " o~ - - — //(sedled when shipped)— — _ / S
Te) 0O Jl 7~ // n Te) O IQ—
ol V4 ~ S A5
. T _ I | N [
= : | \ \Corner color plate 1] : S 513
— i Sheet hanging portion polymer made 20 X ? K 0,8 (mm) — B|_E
i i o
= ! ! Coutlon stickegControl box (Single phase 200V) . <5 o
L I I Xflxmp B %te for, reinforcement - o °5 -
< i ' repared by customer < @<= ™~
g AY}_ I : ij, qule pUSh bUttOﬂ(OptIOﬂ) g Steel squre pipe1OOX1OOX 2.3t
- il Sheet joint part by welding | FL+1,500 < (prepared by customer)
o) il ("none in case W< 1880mm) ! 198 %Installing position of the push button o < 135  Control box
= T ‘_L____/ ___________________________ a1 switch should be decided according < solll’ 1100 5 [ T¢8ingle phase 200V
c Caution |clfe | | O to site conditions. S ] = 7 ¥fixing plate for
= | ! F ~o (Plate for reinforcement for this installation 3 cl o ~| reinforcement
N l | __7 L?; 3 prepared by customers) o £ 3 9 L}‘; prepared by
> Rail | | o | = £ customer
S — | 1 g - rimary power su o S
§ I S i uy (prepar%/eg by cust%Fr)‘nyer) § S R
0 | = | i 5
- | Through—beam squs:or(emitter) i Throigh—begm sensor(receiver) ( safety sensor) T Photoelectric tube sensor(throﬁgh—beom type)
(safety sensor)\{ || iy ol [xxHz1300mm :1000mm high from floor (safety sensord 6
| Bottom sheet cover § RNy . H< 1300--750mm high from floor — ~ o
S O ol =
% = v FL£O 0 & —|vFlL+Q
Maintenance 38 Maintenance space é
2 W ( Effecti . dth) 150 ¥Installing position of the control box / push button switch 5
70 €clive opening wi 100 should be decided according to site conditions. =2
*Appropriate model of startup sensor should be selected <|2
according to site conditions. ®§
High—speed Roll—up Door scale -
_ JETTER JT-1T #en 1= B _ 1730 | Drawing No 01
Image of basic installation / |pate - o - o -




St L-50x50x 4.0t

(prepared by cust&w)

@ Bracket for hanging crumx
2-66

Through—beam sensoNp O

&

St L-50x50x 4.0t

(prepared by customer)

Bury or fix by M10 anchor bolt

¢ 67 (for attachment to rail)

Steel squre pipe100X 100X 2.5t
(prepared by customer)
:
@ o
Bury or fix by M10 anchor bolt Through—beam sensor(emitter) receiver)
(prepared by customer) /(safety senson |
M
M
o
X
~
o
©
~

W (Effective opgning width)

100

Drum box|[(W+140)

30

External dimentions (W+170)

XThis image is for standard spec. with the motor mounted on the right side.
100mm wide right side and 70mm wide left side rails introduced.

XAs an option, we can supply units with motor mounted on the left as well.
In this case, 100mm wide left side and 70mm right side rails introduced.
Control box shall be placed on the leftof the fron% (rails).

% Construction of bases for installation should be discussed at each site according to the site conditions.

A—A" section

selfing—drilling screw (PAN) 5X 19)

|

I
: : \I\—L
U [ O R 1 N\[Front side plate

(prepared by customer)

S

High—speed Roll-up Door

JETTER JT-1T

cross section

L g e /m

scale

V3

Drawing No

Date — o — o -—




O E N i

(Jawoysno Aq painda.d)
110G Joydud ([N AQ XIJ JO Aing  [reeee——— —omee]

(4swoysnd Aq paindaud)
107 X0GX0G-11S  Jprod Jaays Woyjog

FL+300

I~

AN
7

[e[TET1e] |

(399p4q A}9)DS )
(3dAy woag—ybnouyy)iosuss|agny 2133010y

(4awoysnd Aq paundeud)
1£°7X001 x00 | 2did 8Inbs (8815

\

001l DE
¢ 1ge|1 G4

03

Drawing No

Date

V3
/

Scale

o /=

#eei

H (Effective opening height)

High—speed Roll—up Door
JETTER JT-1T
Vertical section

(X0q 8y} Jo spug Ljog 3o buixy)
19%904q buixi) 1nd Uj0}}0q X0q Wni(

_———
o

(4awoysnd Aq paundeud)
1£°7X001 x002did 8Inbs (9815

-

(=) 8°0 X 07 X 0Z epow JswiAjod
9)p|d 10]0D JBUJ0)

L qump—

AN

100

100
AR

(uondo ) Josues drnuDyS (uondo)

J0sU3s dNYDIS

O
Tg]

250

X0q 8yt Jo s
wnip B

100

255

30

08

(4swoysno Aq paindeud) \
1£°7X001 x00 | 2d!d 2inbs [a8)S . /

(X0q 8Y} JO Spu U}pq o buixi))
(19400q A}2J0s ) }o%904q BUIXT} X0q UjnJp do}—uQ

001l 09¢

% Construction of bases for installation should be discussed at each site according to the site conditions.

A’ section

A




B

St L-50x 50x 4.0t
(prepared by custower)

Bury or fix by M10 anchor bolt
(prepared by customer)

Steel squre pipe100X 100X 2.3t

(prepared by customer)

(prepared by customer)

Top of the drum box

100

1

50

100 250

—

Steel squre pipe100X 100X 2.4
(prepared by customer)

H (Effective opening height)

Bottom of the\iumgox

U er limit position of sheet\ \ gteg squre pipe100x 100

(prepared by customer)

100

2.3t

Steel squre pipe100X 100X 2.3t
(prepared by customer)

100250

H (Effective opening height)

Top of square pipes need to be securely fastened
with the building structure by welding or by bolts.

/(prepored by customer)

Steel squre pipe100x 100X 2.3t
(prepared by customer)

Steel squre pipe100X 100X 2.3t
(prepared by customer)

100 100] | 100] |
*_—shape bent plate at least as thick as
steel square pipe can be applied.
Weldind St L=50x50x 4.0t
: repared by customer
| . S0 = |/ (prepared by )
W (Effective opening width) \Bury or fix by M10 anchor bolt
100 100

B’ section

% Construction of bases for installation should be discussed at each site according to the site conditions.

(prepared by customer)

S

High—speed Roll—up Door
JETTER JT-1T

Bases for installation

L g e /m

scale

V3 Drawing No 04

Date — o — o -—




	ＪＴ-1Ｔ　基本図_12.12.pdf-1
	ＪＴ-1Ｔ　基本図_12.12.pdf-2
	ＪＴ-1Ｔ　基本図_12.12.pdf-3
	ＪＴ-1Ｔ　基本図_12.12.pdf-4

